2A:

X XH :
[SEal

EEE

NEET
HAQYS Il HE(SYHY
o OIBIAIE BE

rQ
0
o
o

ERAE=E= )} 30.540, 141 28,561,466 1,978,675
= 3,438,000
& 18,130,000
== 8,972,141
BHAJE HYIIE S (SHLTA /2L O E) 28,401,141 26,134,180 2,266,961
= 3,438,000
= 16, 180,000
& 8,783, 141
Aok JIgtAlE &S 7,705,374 6,037,172 1,668,202
= 1,232,000
= 3,360,000
[ 3,113,374
RsgAL(Z0) 1,830,000 2,000,000 170,000
& 1,464,000
== 366,000
401 AIEHIZ20HHI 1,830,000 2,000,000 A170,000
3 1,464,000
= 366.000
01 Al£HI 1,823,412 1,995,000 A 171,588
oxgogAas 1,823,412
& 1,458,730
S 364,682
03 AIE 2018l 6,588 5,000 1,588
OXN LS HLEANLFT 6,588
& 5,270
< 1,318
Azsiogy F=E2E(21) 685,850 499,500 186,350
= 601,000
== 84,850
403 MtXISHHSKHZ0lH 685,850 494,500 191,350
= 601,000
< 84,850
01 AXHHMA2EE 599,850 494,500 105,350
ogzsiole 2= 599,850
= 558,000
= 41,850
02 B 2SS HAAISH 86,000 0 86,000
OSOt Y AEHZA 86,000
= 43,000
< 43,000
Agolg s 690,000 400,000 290,000
207 & 2O 2HH| 300,000 0 300,000
01 A ESHI 300,000 0 300,000
oXNgHE MY EY 300,000
401 Al HIZ 2 THYI 390,000 400,000 A10,000
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A
X‘l il-l:
Cl-°| :

01 A&l 390,000 400,000 |
OXL0IE B4 - BABHE) 390,000
HEIFOEMY 518,134 413,000 105,134
403 X SHS K20l & 518,134 413,000 105.134
0l HX S ANE ST 518,134 413,000 105,134
OEAIBOIE =& 058,134
OO =0{B =S | 60,000
OUEITOIENY X 200,000
201 MAtE 0N 578,904 341,672 237,232
202 O Hl 12,904 12,672 230
01 2ol bl 12,904 12,672 232
a0l Mate B0 12,904
403 REXI M S K201 & 566,000 329,000 237,000
0 KIS AR =S 566,000 329,000 237,000
OEIAEI LAY 36,000
OFXYN R MEAEZ =& 500,000
oolgoloL JESA X 30,000
MEHLUT AEAIY(2T) 627,486 508,000 119,486
= 556,000
= 71,486
403 XSS K20l & 627,486 508,000 119,486
= 556,000
= 71,486
N XA ESE 627,486 508,000 119,486
OMEHA T AlEES 627,486
2 556.000
= 71,486
Do A& (21) 2,370,000 1,875,000 495,000
= 1,896.000
= 474,000
401 N EHILS O] 2,370,000 1,875,000 495,000
z 1,896,000
= 474,000
01 A& bl 2,361,468 1,869,938 491,530
S EE 2,361,468
z 1,889,175
= 472,293
03 Al& S0HY 8,532 5,062 3,470
OB HE ALET 8,532
3 6,825
< 1,707
MEtEQAE A= 330,000 0 330,000
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NEE
QU= OfYI|B HE (SN L/ HSS
& DlBHAlE 2 E

403 KX SHHE R0 ® 330,000 0 330,000

01 RIXICSHHIRF= 2 X 330,000 0 330,000
OLxE ZRAIE X 330,000

sisMe 2R 75.000 0 75.000
= 75,000

206 T 2 25,000 0 25,000
=2 25,000

01 W2 H 25,000 0 25,000
OJIME PRIAY 25,000
- 25,000

403 XX SHSX=01H 50,000 0 50.000
= 50,000

01 RIXISHH X2 2 X 50,000 0 50,000
oIzl PRIAL 50,000
= 50,000

Jl2s=olg s4 10,285,763 7.784,004 2,501,759
- 2,206,000
2 5,200,000
= 2,879,763

OO HAE 22 571,004 384,004 187,000

202 01 Hl 9,004 9,504 A500

1 2001 Hl 9.004 9,504 A500
AMTRELAY EA 9.004

403 XSRS X0 A 562,000 374,500 187,500

01 REXIEHRIXHE & 562,000 374.500 187,500
OWEEEH AHIN &F 50,000
OJNZIHIZER MBMAAIL 300,000
OOIZBRIM FH|, HH SHA(LA) 12,000
OHILI2 R &H (A =S AP ) 200,000

sz o722 NV (=2D) 8,000 0 8,000
=2 6,000
[ 2,000

403 XX SHHSX=01H 8,000 0 8,000
= 6,000
3 2.000

01 RIXIEHHIRF= & = 8,000 0 8,000
OFSZOIT "NLETSE" 2SNV 8,000
= 6,000
[ 2,000

IBOEAI (2 D) 3.750,000 4,125,000 A375,000
2 3.000,000
< 750,000




SN D)
I AWRAYS Y|P HE(SYHSSA/HLS - OfE)
g9l Jl2s=0g 84 (9 ER)

401 AIEHIZ 2T 3,720,000 4,095,000 A375,000

= 2,976,000
= 744,000
01 A& HI 3,709,875 4,084,000 £374,125
OABOEAIL 3,709,875
= 2,967,900
= 741,975
03 Al& R THb| 10,125 11,000 AB75
OUBOIEALAY XA 10,125
= 8,100
= 2,005
403 XtXI SIS K20l & 30,000 30,000 0
= 24,000
= 6,000
02 BJ| 2+ S 0fl CHEHCH 8 AHRS bl 30,000 30,000 0
OUABOIEAIE HXIZA 30,000
z 24,000
< 6.000
oE0ZBE(2D) 575,000 575,000 0
= 300,000
< 275,000
401 AEHILS T 375,000 375,000 0
= 300,000
< 75,000
01 Al&Hl 372,300 372,300 0
OUZ0E 2422 372,300
= 297,840
= 74,460
03 Al& S THHI 2,700 2,700 0
ONZ0E B42Y 2,700
= 2,160
= 540
403 XHXIEHRI S X201 & 200,000 200,000 0
01 RXISHREEE 200,000 200,000 0
OS0IZA AHOZ 200,000
HICHEE & (32) 840,000 840,000 0
= 800,000
= 40,000
403 RtXI St M S R0 & 840,000 840,000 0
z 800,000
& 40,000
01 XIS 22 E 840,000 840,000 0
oitiEx4 840,000
z 800,000
< 40,000
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SN SAFHD
I YWAAS 0|8 BE(SYHLLA/ AL 2L - 0 )
©9l: JI2=0Y 84 (=ERE-E))

SMESQHLLRA(R1) 1,085,000 1,120,000 £35,000

= 1,000,000
5 85,000
403 X+ XI €3 S XH2 0| & 1,085,000 1,120,000 235,000
z 1,000,000
[ 85,000
01 RS R=EE 1,085,000 1,120,000 A35,000
O%+MERMYLS 1,085,000
Z 1,000,000
= 85,000
AMERUB FVFAHRD) 143,000 140,000 3,000
2 100,000
[ 43,000
403 Xt XI S5 S XH2 0| & 143,000 140,000 3,000
Z 100,000
& 43,000
02 7|25 0l CHBHCH B AL B | 143,000 140,000 3,000
OFMUERMULR SHEA 143,000
z 100,000
[ 43,000
SOAUURIOIE E83HSA)(2D) 990,000 0 990,000
= 900,000
< 90,000
403 X SH S X201 & 990,000 0 990,000
= 900,000
< 90,000
01 RXISH K2 EE 990,000 0 990,000
O=HANUKIOIR SS5 990,000
= 900,000
< 90,000
SIIoHA A Al FACHT T4 633,759 0 633,759
403 KHXI SHHI S AH2 01 & 633,759 0 633,759
01 RIXISH X=X 633,759 0 633,759
OBHAIMAMAI& B T3 150,000
OSIIoHa MER Al 483,759
HAEQHST A 1,300,000 600,000 700,000
= 1,000,000
[ 300,000
403 X+ XI SHH S XHZ 01 & 1,300,000 600,000 700,000
= 1,000,000
& 300,000
01 X SHKESE 1,300,000 600,000 700,000
OSIItHa SR A 1,300,000
= 1,000,000
= 300,000
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W IYAJAE oYL AS(SHLaH/THL 44 - 01 F)
el J12=0d |4 (&)

Sollots +Sollarsd =4 390,000 0 390,000

2 300.000
= 90.000
403 XX EHHI S XH=0I A 390,000 0 390,000
2 300,000
= 90,000
01 IR ESHAEEX 390,000 0 390,000
oSty +EHAE =4 390,000
=2 300,000
= 90,000
SENE Z4 Y +42 IHHD 10,410,004 12,313,004 21,903,000
) 7,620,000
= 2,790,004
S402 RSHE 28 NB(2D) 4,160,000 2,430,000 1,730,000
Z 3.000,000
= 1, 160.000
403 XX IS X201 A 4,160,000 2,430,000 1,730,000
2 3,000,000
= 1,160,000
01 XS H A2 X 4, 160. 000 2,430,000 1,730.000
O+ MBERISME 3,900,000
2 3,000,000
= 900,000
ONY MU M= 60,000
OUS UE HYAL 2422 200,000
SUE B RSIIBALE L BN 274,004 100,504 173,500
201 Y2 | 25,000 0 25,000
01 AFR 22l t| 5.000 0 5.000
OMANEHE X & 5,000
03 A2 2 H| 20,000 0 20,000
O+ &M ESl KIS Hat 20,000
202 Of 9.004| 9504 s0)
01 =LHOi | 9,004 9,504 A500
OFME I - RSIILAIL L BEHH 9,004
207 &P oH Ll 30,000 0 30,000
NEEEETT 30.000 0 30,000
OAEHAY ZA SN 30.000
307 212+01 & 105,000 15,000 90,000
02 RIAHHAEE 105,000 15.000 90,000
O+M2 RUYLHISRSBA X 55,000
OMANENE X & 50,000
403 XSS =01A 105,000 76,000 29.000
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01 IXISH 22 x | 105,000 76,000 29,000
o428 +5H SFRHIZ XA 30,000
OFMEXHIHNBANL(LSH) 75,000
FUSIBAAEH(Z2D) 3,256,000 5,005,000 21,749,000
z 2,620,000
= 636,000
403 [t XIS HI S K20l & 3.256,000 5,005,000 21,749,000
e 2,620,000
= 636,000
01 X SHHMA2EE 3,256,000 5,005,000 21,749,000
O+MSAXIIIB AL 1,456,000
o 1,120,000
[ 336.000
OSMSHEHMTAIL 1,800,000
J?s* 1,500,000
[~ 300,000
FHAZMANFEHIZL(Z2D) 2,450,000 4,410,000 21,960,000
=) 2,000,000
[ 450,000
403 RtXI S HI S R0 & 2,450,000 4,410,000 21,960,000
= 2,000,000
1= 450,000
01 RS2 EE 2,450,000 4,410,000 21,960,000
O=+MZEMTUNBRE(FPC)XI & 2,450,000
Pe: 2,000,000
= 450,000
SR ooy FHl 270,000 0 270,000
403 RtXISHHMSKH=0I ™ 270,000 0 270,000
01 HXSHIEEE 270,000 0 270,000
OFTEX ofolya Hil 270,000
HY AL SRS (AT HUD) (SHHL S/ B L4 2,115,000 2,400,000 £.285,000
& - 01 &)
e 1,950,000
== 165,000
Ol Mg &= 2,115,000 2,400,000 £.285,000
Z 1,950,000
= 165,000
OlEOE=ET2A X4(=2D) 585,000 325,000 260,000
e 450,000
= 135,000
403 XX EHHI S KO0 & 585,000 325,000 260,000
= 450,000
= 135,000
01 X SHXH2EE 585,000 325,000 260,000
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585,000
& 450,000
=S 135,000
OENSSEMNL(=1) 1,500,000 2,000,000 £500,000
& 1,500,000
403 A XIS 201 1,500,000 2,000,000 A500,000
& 1,500,000
01 XM X2 2 1,500,000 2,000,000 A500,000
O ENSEE H‘é’(ZDHﬁ:) 1,500,000
& 1,500,000
HEASANE 2 843 30,000 75,000 245,000
403 XIS SA=01A 30,000 75,000 245,000
01 XM= EER 30,000 75,000 A45,000
OO0IE, 0= HHIALY 30,000
HH2HBHI(=LF D) (OIEHDIEH) 24,000 27,286 23,286
Jl=2&HI 24,000 27,286 23,286
fA2Y J12&H] 24,000 27,286 23,286
201 L2 12,000 14,326 22,326
01 AtR 22l 11,850 14,164 22,314
ORN2ZE AtR2elH 11,850
02 E=244| 150 162 A2
ORN2d S32¢H| 150
202 O4dl 12,000 12,960 2960
01 ILHA B 12,000 12,960 2960
ORAEE ZUHHI 12,000
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